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{iti) If a guestion is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
egr & : FRw @ D voeR 3w ofee & Red g w mo @

Dream Dare Win 1 Www.jeywin.com



Dream Dare Win WwWw.jeywin.com
- = T ——

Directions : The qumﬁin-g six (6) items consist of 8. Statement I: Total Cost curve is first
two statements, Staterment I and Statement 11 concave and then convex from
You are to examine these [wo statements below,
carefully and select the answers to these items

. using the code given below : Statement I : Law of wvariable proportion

operates in production,
Code :

{a) Both the statements are individually [4- Statement I :  Foreign investment may affect

true and Statement Il is the correct a country’s export performance
explanation of Statement [. adversely,
(b Both the statements are individually Statement II : Inflow of foreign exchange may

true, but Statement I is not the correct
explanation of Statement 1,

cause appreciation of local
eurrency leading to rise in the

price of export commodities.
{c) Statement I is true, but Statement II is

false.
5. Statementl: In case of liquidity trap,
(d) Statement I is false, but Statement 11 is liquidity preference curve
true. becomes horizontal at a very

low level of interest rate.

1. Statement I: 1f the Marginal Cost (MC)

curve 15 & horizontal sHRlNER Statement Il : liquidity preference curve

line, the equilibrium of a firm shows a negative relationship
under perfect competition between demand for money
remains indeterminate. and interest rate.

Statement II : Marginal Revenue  curve
always remains above the MC [6.  Statement I: Infant industry argument is

curve. advocated in support of
protectionism in international
trade.
2. Statement I:  All inferior goods are Giffen
Staternent I : Infant industries require time
goods.
to wundergo the process of

Statement II : An increase in income results learning-by-doing to become
in a lower demand for an
inferior good.

competitive in the long run.
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Directions : The next three (3) items are based on |10,
the following production possibilities data for India
and Bangladesh. All data are in tons :

Production possibilities for India

A B & D E
Tea 120 90 60 30 0
Pots 0 30 60 90 120 |11,

Production possibilities for Bangladesh
A B C D E
Tea 40 30 20 10 0
Pots 0 a0 60 90 120

7. Which one of the following is most suitable ? |13,
(a) India should export tea to Bangladesh,
but it will not be profitable for the two

nations to exchange pots.

(b} India should export tea to Bangladesh
and Bangladesh should export pots to
India.

(c) Bangladesh should export tea to India
and India should export pots to
Bangladesh,

{d) India should export both tea and pots to
Bangladesh,

&, Which one among the following are the limits
of the terms of trade between India and |13,
Bangladesh 7

fa) 1tea =1 potto 1 tea = 3 pots
(b) 1tea =2 pots to 1 tea = 3-5 pots
{c) 1tea=3 potsto 1 tea = 6 pots
(d) 1tea =2 pots to 1 tea = 6 pots

9. Assume that, prior to specialisation and trade,
India and Bangladesh both chose production
possibility ‘C’. Now if each specializes
according to comparative advantage, the
resulting gains from specialization and trade
will be
(a) 10 tons of tea and 30 tons of pots
(b) 40 tone of tea
fc) 20 tons of tea

(d) 20 tons of tea and 20 tons of pots

N-DTQ-K-GEQ {4 - A)

In the long run, the cost and output
relationship depends on

(a) returns to scale,

(b} fixed proportion of the variables,
{e) returns to the variable factor,
(d) returns to the fixed factor.

The accelerator model predicts that the
changes in investment are determined by the
changes in

fa) Output
(b} Interest
(e) Capital

(d) Inventory

A Laffer Curve indicates

(a) the relationship between money supply
and price level in different stages of
inflation.

{(b) that above a certain tax rate, an
increase in tax rate causes reduction in
“tax revenue.

{e)} a positive relationship between tax
revenue and public expenditure.

(d) a negative relationship between high
rates of income tax and amount of
evasion of tax.

Dutch disease implies

(a) the appreciation of a nation’s currency
resulting from the exploitation of a
domestic resource that was previously
imported, and the resulting loss of
international competitiveness in the
nation's traditional sector.

(b) the depreciation of a nation’s currency
resulting from the exploitation of a
domestic resource that was previously
exported, and the resulting loss of
international competitiveness in the
nation's external sector.

(e} a fall in the valuation of Dutch currency.

(d) a fall in the valuation of Dutch currency
and its resultant adverse impact on
other nations' currencies.
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14,  Which among the following were the causes of |16.  Which one among the following is not part of
decay of Indian handicrafts during the British the stimulus packages awarded by the
3 Government of India in the year 2008 - 09 to
Lo help export sector in general and some sectors
) affected or likely to be affected by the global
1. Disappearance of Princely Courts recession in particular ?
2.  Hostile policy of the East India (&) lrf::Iusmn _{:~I'1 handicrafts 1ten13. in
Company Vishesh Krishi and Gram Udyog Yojana
() Constitution of a high level committee
3.  Competition from machine made goods for fast track resolution of a number of
procedural issues to reduce delays for
4. Growth of Joint Hindu Family business the exporters
{e) Reduction of excise duty across the
Select the correct answer using the code board by 4 per cent for all products
given below : including petroleum products
(@) 1 and2only {d) I:.xtfmsmn of export nhh_gst%un period
against advance authorization up to
) 1,2and3 36 mﬂFthﬂ without payment of
composition fee
(e} 1and3 only
17.  If you take the arithmetic mean of the
{(d} 2,3 and 4 Laspeyres' and Paasche’s price indices, you
ghall get
(a) Drohish-Bowley Price Index
. ; ih) II-E h Pri
15. Which one among the following is the most Marshall-Edgeworth Price Index
. - (el Walsch Price Index
appropriate definition of a less-developed ) .
nattcir? fd) Fisher's Price Index
a) A country with a small agricultural [18. Consider the following statements about trade
sector, low rate of population growth and finance :
low per capita GNP, 1. Trade financing has been used in more
than 80 per cent of trade transactions
; tly short-t dit) in ¢ 1d.
(b) A country with a high population growth Umektly sherktenm crads) in hﬁl 1l:ru-r
e ita GNP miowth rate 2. The recent global finencial crisis has
e RINET PO SRR BROWS impaired the access to trade finance.
and an unequal distribution of income. ’ :
3. Developed Bconomies are  most
o " wulnerable to the shortage in trade
(e} A country with inadequate health care, finance:
poor educational facilities and low per Which of the statements given above is/are
capita GNP, correct 7
) fa) 1 only
(d) A=_f:oun1ry 'anlth Io'.; per :ijltulbl‘;ll", :: () 1:and 2 only
large population and a small agricultura (¢) 2and 3 only
tor,
seeton (d) 1,2and3
N-DTQ-K-GEQ (6 - A)
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19. Match List I with List Il and select the correct {21. If the production function for good x is given
answer using the code given below the lists as Q = 2K + JL : where Q is total output, K
(where E, = elasticity of substitution) : refers to quantity of capital and L refers to

List I List I quantity of labour; the marginal product of
labour is given by
A. Kinked isoquant 1, E == 1
(a) Z-;II—.E'
B. Downward sloping 2. E.=0
straight line (b) 241
isoquant 1
{c) =
C. Cobb-Douglas type 3. 0<E <= 2
isoquant dy 2
D. Downward sloping 4. E =1 22. In India, the share of agriculture in GDP has
isoquant ’ declined at a very fast rate in the recent
years. This is due to
(a) lack of diversification of rural economy.
Code : (b) slow growth in the prices of agricultural
commodities.
A B C D : iy
{e) saturation of employment opportunities
(a) 3 1 4 9 in the agriculture sector.
(d) wvery slow growth rate of agriculture and
(b} 2 4 1 3 a fast rate of growth of other sectors.
(c) 3 4 1 9 23. Consider the following demand curve and the
points marked on it :
(dy 2 1 4 3
dd curve
20. Which one of the following is not an objective
of food management in India ?
(a) Procurement of foodgrains from farmers
at remunerative prices Quantity demanded
(b) Distribution of foodgraine to the Arrange the four points shown in the above
consumers, particularly the vulnerable graph according to their increasing value of
sections of the society, at affordable point elasticity of demand (in absolute sense)
prices using the code given below :
(a) &y, ay ag, a,
(e} Export of foodgrains to earn foreign
exchange (b} ay, fg, By, A
(c) @&, 8y 84, 8
(d} Maintenance of food buffers for food 472 T3 T
security and price stability (d) a,,a, 8, a5

N-DTQ-K-GEQ | B - A)
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Match List 1 with List 11 and select the correct
answer using the code given below the lists :

List I List 11
A. Rybczynski 1. The effect of tariff
Theorem on factor prices

B. Metzler Effect 2. The effect of factor

growth on
production and
trade
C. Stolper — 3. The effect of
Samuelson tariffs on
Theorem domestic prices
D. Immiserising 4. The effect of
Growth growth on
terms of trade
Code :

A B C D

(a) 2 3 1 4
(b} 4 1 3 2
(c) 2 1 3 4
(d 4 4 1 2

Net National Product at Market price is
higher than Net National Product at Factor
cost if

26.

27.

The cost of bank credit is determined in India
by a system of benchmark prime lending rate
which is charged by a bank to the most
creditworthy customers, and all bank loans
are given at a rate equal to or higher than the

benchmark prime lending rate. Of the
following, what determines this rate of
interest ?
{a) It is fixed by the Reserve Bank of India.
(b) It is determined by the Ministry of
Finance,
{c) I is determined by the bank concerned.
{(d} It is a competitive rate determined by
market forces of supply and demand for
credit.
¥
N
L
'§ A
5o
g
a,
g B
|
ol
=
=
o
X

Capital goods
In the diagram given above, the production
possibility curve shows that
{a) a nation which produces at point A
rather than at point B could expect a
maore rapid rate of growth.
a nation which produces at point B
rather than at point A could expect a
more rapid rate of growth.
there is a negative relationship between
rate of growth and output.
more growth is possible only when there
is outward shift of the curve.

(h)

(¢}

d)

(a) Government subsidies > Indirect taxes |25+ For a positively skewed distribution, which
one of the following is true ?
ib) Government subsidies < Indirect taxes (a} Mean < Mode < Median
(¢} Government subgidies = Indirect taxes (b)  Mean < Median < Mode
fe) Mean > Mode > Median
(d) Government subsidies > Indirect taxes S ki s ik
N-DTQ-K-GEQ [ 10 - A )
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29. Which of the [ollowing statements is/are |31. Does  Ricardian theory discuss the
correct 7 determination of international price ratios ?
- . I
1. FDI in India under the automatic route (a) No, it U.]'IIJF talks about specialization in
does not require prior approval either production and trade theory stops there
by the Government of India or the (b) Yes, the pre-trade prices will prevail
Reserve Bank of India, (¢) Yes, the importers and exporters will
2, Investors are only required to notify the: decide i Shrougs bilatorel tulke
concerned regional office of RBI before {(d) No, it was left for J.S. Mill to bring in
receipt of inward remittances and file law of reciprocal demand to settle prices
required documents with that office s o
before the issue of shares to foreign > Eﬂrlﬂm'te statement of XYZ Bank is: given
investors, il
) Asszets Rs. | Liabilities Rs.
Select the correct answer using the code
given below : Reserves 10,000|Deposits 1,30,000
() 1 only Loans 10,000
Securities 1,10,000
W ‘Zonly Assuming a cash reserve ratio of 5%, how
(¢) Both 1 and 2 much excess reserve would this bank have
. % after a cheque of Rs. 2,000 was drawn and
(d) Neither 1 nor 2 clonred againat i3
fa) Ras. 8,000
(b) Rs. 2,000
) . ) {e) Rs. 1,600
30. m}; ?uf' the following statements isfare (@) Rs. 1,500
Whin with' & fall 58 péice of & commodigl Conuder the Mllowing sistements :
total expenditure 1. Longer the time producers get to make
adjustment in the level of ootput in
1. decreaszes, the demand for the response to the changes in price, the
commodity is elastic. greater the elasticity of supply.
2.  increases, demand for the commedity is 2.  Sharper t.h,e d‘“}"ﬂ* in marginal cost,
snalasiss: lesser elastic will be the supply of
output.
3. remains constant, demand for the 3. If infrastructure facilities are available
commodity is unitary elastic. for expanding output, the elasticity of
Select the correct answer using the code SU,PPI}' 0 ERTE to the rise in price
given below : will be relatively large,
Which of the statements given above is/are
(a) 1 only correct 7
(b) 1 and 3 only (@) 1 only
(5 Hoon (b} 2 and 3 only
3 ony i) 1 and 3 only
(d) 1,2 and 3 (d) 1,2 and3
N-DTQ-K-GEQ (12 - A )
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Prefftes su= o A 39 @& IO e ?
1. ¥RA ¥ wae 9nf & e FDI & e vra
wOR a1 wrd fod #@ ¥ o sl &

Jaama 78 g |

9. Frwel ¥ o gg e B @ B oms
ifig o= & wie 4 = RBI & wwdfta
iitn sima @1 wftgia X @ g
Wi #1349 sraieg & o, e Faeet
R T B 9 TR, afEE o1 |

Jr R e ge @1 v B wE IR 9

fa) ®am 1

(b) &ad 2

1 3R 2 EMT

Fa@i1dRTE2

ic)

(d)

s sl & & 3 w1/ w8 8 2
34 @ O DA F REe & W $ =

1. firar &, @ awg o o drader @ |
2. agar &, @ awg @ A AR # |

3. far @ &, & o & O & dw e
wrer 2 |

e e e ge @1 wam AR TE TR g
(a) a9 1
(b) & 133

(¢c) a3

(d) 1,233

31.

{13 - A)

o el & foga sedsa dwa gl &
frefror & waf awen &

(a) =8, oE e Faea o Rfrdeor & an
aw B & ah =R frgia o | e @
S &

&, IR-gd B vl @

7, Frfes 7 s @ v aaf &
w0 FruifRa =t

W s Rres R fea
e & Fofor & B arafs din @
Formy 7

(b)
(e}

(d)

XYZ #5 &1 gee faawon e R man # -
aftenaferl w |d7aRar )
Frfam B 10,0005 1,30,000
0T 10,000

wfersgferat 1,10,000

AHE HREOT 9T B 5% WA Y, 2,000 T. W
o BIE T T FE A T F AR, 5 i & U

fst sfeRes amfim ffr @ ?

(a) 8,000 %,

(b) 2,000 %.

{(e) 1,600 &.

(dy 1,500 %.

Frafafes sl w fer dif5w -

1. @marf oRed=t & W IS U FEaE
¥ wr i gardeE it wwa ad &,
3ot & ofif & e Cani

2. fe dmen @ diwia o ¥ ofteds g €,
ﬁﬁmaﬁqﬁﬁmmﬁﬁril

3. dR IOET & R
Wi &, 2 it & ainagmﬁqﬁ
e FtE BN R |

R Be me wu # 2 o ad wd &E ¢

(a) ®&ad 1

(b) aw 233

(¢) ®ad 133

@ 1,233
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34. The recent global financial turmoil has |37, Consider the following statements about
adverse impact on the Indian finanecial deficient demand :

markets: particularly the equity market and 1. Deficient demand exists when aggregate

the ff:rezgn exchange segment. Hn‘wufmr. the demand for goods and services falls

!:-anlnng sector has not been s:gm!-‘ncantiy short of aggregate supply of output

impacted by these developments, Which one which can be produced by fully

among the following is the main reason employing the given resources of the
behind this ? economy.

(a) Comfortable capital adequacy ratio, 2.  Deficient demand lowers both output
asset quality, profitability indicators and employment and gives rise to
and lower non-performing assets unemployment of labour.

(b) Fiscal stimulation package announced Which of the statements given above is/are
by the Central Government for some correct ?
select industries (a) 1 only

(e) Strong foreign exchange reserves of the (b) 2 only
Reserve Bank of India (¢) Both 1 and 2

{d) More credit by the banks to the housing (d) Neither 1 nor 2
and real estate sector

38. The growth process that is sustainable and
35. Regional disparity in per capita income in yields broad-based benefits and ensures

India has increased in the post reform period equality of opportunity for all is termed as

due to many factors. Which among the (a) Faster growth

following factors has mot contributed to the (b} Inclusive growth

; : At

growth in such disparity 7 (¢) Balanced growth

(a) !Jnf:line in the share of public (d) Sustained growth
investment

4 . i . 138,  The notion that ‘trade between nations can be

) ﬁt::tg:;er:flufﬂilga tegime. regulsting profitable even if one of the two nations ean

produce both the commodities more efficiently

(¢} Poor governance and poor infrastructure than the other nation’ is the gist of

(d) Allocation of Central Government funds (a) Absolute cost advantage theory
through the award of Finance (b) Comparative cost advantage theory
Commission .

(e}  Opportunity cost theory
N (d) Factor-endowment theory
36. A consumer purchases 80 umits of a

commodity when its price is Re, 1 per unit [40. Given a curvilinear demand curve being

and purchases 48 units wlaan its price rises to tangent to a straight line demand curve, the

Rs. 2 per unit. What is the price elasticity of point elasticity of demand at the point of

demand for the commodity ealeulated by Are tangency

elasticity formula ? A

(a) is the zame.

@ Qv (b) is different,

(b) 150 lc) can be the same or different.

(c) 200 (d) cannot be inferred without additional

fdy 175 information.

N-DTQ-K-GEQ (14 - A )
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Ry, frey $fedt ammr sk et fafora @ve
W g0 I g ¢ | AR, dfT dEe W
geedl w1 wevayot wwE A ugt | Frafofea 4 3
T UF $HH WE ETE 7

(a) Wa@e T vafewan orqow, oRwf o,
aftemafert

(b) T8 P g Tl & fwe Ha weR TN
it weeda @ s

() Wi Rpd &6 & uw wam faReh m@
I it

(d) smarig @ el duer dEe o §@ g
sftrs =T

35. WRa ¥ TR GuR wwa @l A7, e e 6
sR o @fe o § dta R G @
forfafas % ¥ @ wem g9 R @ w3fe d
storerdt 7 @ w7

(a) widslw e & B § &0
by Frw safefrd & Rfoes 29 A seen

7 gftae 39.

(¢) +OF IR U1 A FeRE g

(d) g Woer & =N @ T adm &
st sar Rffem

36, UD ITNH U aw Y 80 IR 1 T, Wi 5IH
¥ frum & wdem 2 3R 48 zogdl 0a e @
v T & S FgaR 2 5. Wi 3o @ o |

T S A & AR WO W TG B A |40,

# da w2
fa) 075
by 1-50
(c) 2-00
(dy 175

N-DTQ-K-GEQ {16 = A}

34. @ & & dfas R R @ s e |,

38.
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=[ A X watan Feafafee s ® R

#ifsw -

1. g 3 e e 7 o # o gl
3k damdl & W A e @ e O
& amen R ot #, forae snfemwn &
wvia Re e deeE @ ool wEm aws
Feuifee e o w@ A # |

2. <A Wi FEEA 7 AR 2FT B & BH Bl
£ 3R 7w AWe ® IuE N

7% fiw o weEt F A o wyd 'l A 2

(a) a1

(b) *aA 2

(c) 13T 2ds

d a1 ade2

7a e wisan =, 5t fs el & sk =ms
e el = Aee & a1 & e geeR &
wawer ghiftaa o, fsw = & s e & 2

(a) asvenpd A Hale

(b) wmaeh ¥afE

(¢) wgfm wafe

(d) ofm dgfe

g% uRem, 5 gF e ¢ 5 ) & wem =mR
s B e ¢ i oRRefE & 9 sl e

Tl % ¥ v g A s B g g B e
¥ Fiftrs e 3 JefEd X wew B fow Rrgia @
ARE?

(a) Pt emm oy @ feE

(b) GEATES T T B g

(¢) @a ama & Fagde

(d)  FuEE-Tati (e fega

Fpdig i ap ot A T i as & Wl A,
ﬁmwﬁmﬁﬁwﬁﬂﬁqﬁmﬂﬁﬁmﬁ#F
(a) EWF IEA B

by Rmeard

(¢} oW ar fim & waa @

(d) T afefes gEn & s A8 @ S0
ikl
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41. A consumer spends all his income, 48. The trickle-down theory
m = Rs, 1,000, on two goods, x and y. The price (a) states that hydroelectric generating
of x is Rs. 5 and the price of y is Rs. 20. stations are the most efficient sources of
His demand ﬁmﬂi_"“ for good x is given h_".'l’ power for developing nations.
2m ,I"S]:Elf If the price of x falls to Rs, 4, his (b) was suggested by Keynes when he noted
demand for x goes up to that an increase in investment trickles
(a) 60 units down to the rest of the economy and
(b} B0 units brings about an increase in GNP.
(e} 100 units {c) states that an increase in per capita
(d) 120 units income will eventually increase the
42, ;‘;h;l;nfﬁe of the following is a transfer ;:aibi:}e;r&ﬁ£i&£ mﬁ;:mmty sk
: ; (d) is best understood by analyzi the
{E} Net factor mmm;li_rarrée::] fmm‘:hruad = economies of the third 'a':'rurld munt:l-lgcs.
s gﬁ:ﬁ; ;ﬁ publie:-dett: puid: Ty 3 47. Which one of the following is time reversal
(e} Bonus to employees by the government or test ?
enterprises LPa,
(d) Employers’ contribution to contributory (@) Py xQqy = YPgq
provident fund of employees oo
43. When Reserve Bank of India purchases a (h) Py xPyy=1
Rs. 1,00,000 bond from an investment dealer
and that dealer deposits the proceeds in a (€) PoyXxPyyxPyy=1
demand deposit in Bank A, then Bank A's
(a} excess reserves rise by Rs. 1,00,000, (d) Py % Pppel
(b} total reserves rise by Rs. 1,00,000. "
(¢) lending capacity increases by 48.
Rs. 1,00,000. D
(d) bond holding increases by Rs. 1,00,000.
44, Credit will contract when i
{a) bank rate is lowered. é .
(b) bank rate is raised. ™ B
{e) reserve requirement ratio is lowered. 3 b
(d) open market operations policy of buying
government bond is adopted, d o
45. Arrange the following markets according to m 5 1
increasing degree of barrier to entry into Quantity demanded
them Consider the figure given above. Initially all
1. Maonopoly consumers were charged for the product at
2. Perfect competition price ‘p’. What will be the loss in the consumer
3. Monopelistic competition surplus, if the discriminating monopolist
4. Dligopoly increases the price to point v’ for the rich
Select the correct answer using the code given consumers and continues to charge the others
below : at the old price ?
(a) 1,2 3,4 fa) Area opbm
(b) 2,4,3,1 (b) Area oram
(c) 2 34,1 (e} Area rpba
d) 3,2 4,1 id) Area abe
N-DTQ-K-GEQ {16 - A )
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U ORI O T A1, m = 1,000 B, & awga
xIRywmaga # | x B BT 53, B ARy
# dmm 20 & ¢ | IES x W W EeE
2m/5p, & | T awg x &t Pied FRE 435, &
2, o i & x & fowe Wi & o a5 S ?

(a) 60 gl
(b) 80 gergal
{¢) 100 ZHTEAl
(d) 120 sBBA
42, Frafafes & 3 9w e, e @mam @ ?
(a) fw % 3w Fes soem s
(b) VRER BRI AEAE T 9= 0SB s
{c) VBN 1 FET @R 3w s @
T @
(d) P g Tt & s i
ars ¥ B T sivEE
43. @ widm Rad &9 ve e SeR 9 1,00,000 &
¥ dfvz @l 2, au 98 Sor witedt @ din s
T T H &® AW I BT 8, A9 dF A T/
(a) Ffen® Red 1,00,000 %, 7g 5w & |
(b) T REd 1,00,000 ©. & a0 7 |
(¢) FUR T H &war 1,00,000 5. a3 T & |
(d) @z aRar 1,00,000 ©, @G s # |
44. WY HPpod g, 5@
(a) #&® & UgT & oNe |
(b) &F @ =g & FE |
(¢) 3TReT e U wer fRar sm |
(d) TR dos B wdied & e ger AR
wfgsa Afa s a3 |
45. PrefofEe amst @, Fof v ¥ v &
e & IR X HHER TET
1. UHEER
2. uof i
3. ot wiemfie
4. FeMER
dr e e g o wam S A IR e
(@) 1,2 3, 4
b 2 4,31
() 2,341
d 3,241
N-DTQ-K-GEQ
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{17 - A )

femer-gra= Fagia (Trickle-Down theory)

(a) @ & & feoredts ogl d sofigg
I W Fo & waifte pe W € |
(b) @1 GWE &1 g fEan A @1 S IR we
ar fis Frarer % afg 9 andemwen % w2 ofy @

iR & ST 2 3ik GNP # 3fg & 2 |

(c) @ & 6 wfe =fts sma & F
wars & ot woef & weor § gty S @
wdifs ag 31 g § " ofy & wwRe @
i

(d) @ warem @ de ghar & 2 B
srdferand % Rwdwo 3 e d

Frefofae & @ St ve, ST oleo 2 ?

LPq
(a) Py xQy = 217
0t 1
LPya,
(b Pﬂ'l X Plﬂ =1
() Py %Py xPyy=1

(d) Py xPpo#1

A
D
ET )
C
P b
0 m q D

| 7 A

I Tl ™ v w er A, ooy § e
FPEE | I @ p’ dd age @ 18 | s
ity ¥ Reeeht wiffr 2, ot Sepe eritrerd,
o It & o, S o g v o 9 e
2 aan 3 Ikl | W Sva § agea @ 2
(a) opbm &4
(b) oram &=
(c) rpba &=
(d) abe &
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49, ' Consider the following statements : 51.

1. While under perfect competition price
equals marginal cost at the equilibrium
output, under monopoly equilibrium
price is greater than marginal cost.

2, While the perfectly competitive firm, in
the long run, can make supernormal
profits, a monopolist is able to make
only normal profits,

3. Under monopoly, price is higher and
output smaller than under perfect |
competition, assuming cost conditions in
the two cases to be the same.

Which of the statements given above isfare

correct 7

{a) 1 and 2 only 52,

(h) 3 only

(e} 1and3 only

(d) 1,2and3

50. Which of the following are the assumptions of

Heckscher-Ohlin theorem ?

l. Both the product and factor market in
both the countries are characterized by |53
perfect competition.

2.  Factors of production are perfectly
mobile within the country but immobile
between countries.

3. Factors of production are of identical
guality in both the countries.

4.  Factor supplies in each country are
flexible.

Select the correct answer using the code given

below :

{a) 1 and 3 only

{(b) 2 and 3 only

fe}) 1,2 and 8

(d) 1,2 and 4

N-DTQ-K-GEOQ [ 18 — A )

Which of the following statements regarding
incidence of tax is/are correct ?

1. Ifthe demand for a commodity is inelastie,
its price can be raised by increasing a tax.
2. If the demand for a commodity is elastic,

burden of sales tax may be shifted partly
to the consumer,

3. If the supply of a commodity is perfectly
elastic, the entire burden of the tax will be
on the seller.

Select the correct answer using the code given
below :

{a) 1 only

(b) 1 and 2 only
(e} 2 only

(d) 1,2and3

In national income accounting, which one of
the following is the difference between gross
aggregates and net aggregates ?

(a) The value of net indirect taxes

(b} The value of consumption of fixed
capital

(e} The value of intermediate consumption

(d) The wvalue of final consumption
expenditure

The Prisoner’s dilemma

1. is a game theory concept showing the
disadvantages of not being able to reach
binding agreements.

2.  has significant implications on the

behaviour of the oligopolists.

3. explains how rivals behaving selfishly act
contrary to their mutual or common
interests,

4. is a doctrine developed by H. Domar
which explains the incentive to cheat by a
member of a cartel.

Which of the statements given above are
correct ?

(a) 1, 2and3
(b} 1 and 2 only
{c} 2 and 3 only
fd) 1,3 and 4

Dream Dare Win 18

Www.jeywin.com




Dream Dare Win

49. f=fofee #F w e S5 - 51.
1. wafs qof ufeafien & sgee sames o2 o
ﬁuﬁaﬂmﬁw“ﬁﬁ:ﬁqﬁ.mﬁ
HqeH dwa S e st S #
2. omfes, dfew ¥, oof s & s of
gftamra @W wg @ §@dl ®, UH
TSR] Had ST @I W % O & |
3, wfter & wwda, oof sfedfor & qeen
#, e st 3R s ®9 B 2, uE
wee g f6 eme sl @ @ wewol #
| W #
FRBrmer iR mR T e
(a) ham 132 -
(b) w3
(c) aer 133
(d 1,23R3
50. Prffam § ¥ o), dmRaNeRm wWa @ |53,
A # 2
1. @ 29 & T e e aew # gof
yferahfirar s &
2. FEA & DRD 49 & Fwax QU il &, ks
auit & dg amfedie &
3. 2y 2wt F s & RS @ e e #
4. W de H I Ofdr s € |
e e 7w g @ wdm o e I e
(a) A 133
(b wae 233
(¢) 1,23R3
(d)y 1,234
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wamE & de ¥ Feafafes ool § § @ @@

e B 7

1. ufE awg ot i deireer @, o guet e §
g, o s 1 71 v # |

2. ufk awg o oy e #, @ i oW AR
gﬁﬁ‘ﬁmﬁ F 3aRa e a W
I

3, ufk @ fER & W@ W) @
Wﬁﬁgﬁgmlé

A Re me g @ wam #R w8 R g

(a) A 1

(b) am 132

(c) ®&ad 2

(d 1,233

g 3 e #, Frefefea § @ o o,
W wqedl aur Fae widl & de IR E ¢
(a) Fraer swew & & g

(b) Fer Tt & anim & geg

(¢) WG] JUNNT B e

(d) sifm smim &@ & o

ad gfeen
1. Us an g & weuron ¢ A angsr

FEdl a% | gy g9 & et @ v
o |

2. & yrofteRdl & waer w Tewgt dRomh
wHE B E |

3. e we & T e ver @ wiredt i
aar FU greiiE ar A e & ol
EER & § |

4 v PR g fefm v fogim & &
JES-EY ¥ HEEd G OE &t &) e &t
e 5 |

FRErmEE AR @ E 7
(@ 1,23R3

(by w132

(c) ®am 23R3

(d) 1,33 4

19

Www.jeywin.com




Dream Dare Win

WwWWw.jeywin.com

54. Which one of the following factors will lead to |58.

a shift in the demand curve to the right 7
{a) Decrease in the price of the product
(b) Increase in the income of the consumers

() Decrease in the price of the raw
material

{(d) Decrease in the price of the subatitute

556. Which one amongst the following proposals
would nof be supported by the supply-side
economists 7

(@l A decrease in the personal income tax
rate

(b) An increase in the welfare benefits

(e} A decrease in the capital gains tax rate

(d) An increase in foreign aid

66. Rakhi is faced with the problem of selecting
items for consumer price index. The index
number is expected to measure the general
changes in the price level of a group of
commodities. Which of the quality/qualities
listed below should be taken care of by her ?

1, The items should be representative of |60-

the tastes, habits, customs and
necessities of the people to whom they
relate,

2. The items should be adequate in
number and importance.

3. The items should be moderately priced.

Select the correct answer using the code given

below :

(&) 1,2and3
(b) 1 and 2 only
(e} 1 only

(d) 2and3 only

67. The profit maximizing monoepolist is in
equilibrium where

(a) Elasticity of Demand = 1

59.

Which one of the following is mot correct
regarding the Elevenih Five Year Plan

(2007 — 12) ?

(a) Targeted GDP growth rate is 9% p.a.
{(b) Incremental capital output ratio is 4-1.

{¢) Share of the States in total public sector
outlay is more than that of the Centre.

(d) Aims at rapid growth that reduces
poverty and  creates employment
oppartunities.

The gains from international trade depend on
the

1. differences in cost ratios in the two
trading countries,

2. terms of trade,

3.  size of the country.

Select the correct answer using the code given
below ;

(a) 2 and 3 only

{b) 1 and 2 only

fc) 1 and 3 only

(d) 1,2and3
Consider the information given below :
Price Demand Supply
(Rs.) | (tonnes/annum) | (tonnes/annum)
1 1000 400
2 900 500
3 B0 600
4 700 700
5 GO0 800
6 500 900
7 400 1000
8 300 1100

Suppose the government gives the firms a
subsidy of Rs. 2 per unit of the good, what will
be the new equilibrium price of the good ?

in) Rs. b5

(b} Elasticity of Demand > 1 () Rs. 4
(¢} Elasticity of Demand < 1 fe! Ra 3
(d) Elasticity of Demand = = id) Rs. 2
N-DTQ-K-GEQ { 20 - A )
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I e e srEt § 3 S e S, 19 85 B
et a9 3aRa s o oftog 2m 2

e & S § &
IRl @ 3 A ghe g

e T @ SHd § B BT

WA (Feafeo) & S # S g

(a)
(b)
(e)
(d)

Frafofa vt # ¥ Sl ve &1 i ofd-ue
sefenfRerdt g =&l Tasan smem 2

fere g &R EX W A B
searer] ol § afa &

ot arfiemy &R & § &9 &

faat wermar # afe @

(a)
(b)
(c)
(d)

I S gEei® B e wel & T § e o
HAEA! B FHAT BT 9501 B | GBS | TE Han
B T ¢ 5 o7 avg-wE & o w1 A e
e & s & | 9 e e S el e
ITqF! e § T Oee ?

1. W W @ o o), e, Af-Rarsi
R Fmavammsl @ st &1

2. W HE@ 9 UEw &1 eH ¥ @ g 9 g |

3. wal o B Hoa |

A faw e T @ v R EE IR g

1,23R3

&aer 1 3 2

thae 1

e 2 3k 3

(a)
(b}
{c)
(d)

o sftrEadER TETtER Ugea | B, 5|
(a) AWM B AT =1
(b) Him @ & > 1
(e} ®IT @ EE < 1
(d) WO & AT = oo

[ 21 -

58,

59,

60.
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wredl daadf O (2007 -12) % v f
Frefaiaa § 2 #aw oo w58 2 2

wida GDP ¥ahs &< 9% wiead & |
el o0 U ST 40 1 @

o0 WS &FF & wRew § U @
T sm s R A aftm 2 |

THE Ay g ugte & ot Frefar o @
2 3 IR FEER © g A |

e smR % sftrem fes ox Pl & 2
1. areie &t & e & sEET & R W)

2. =R Rl w
3. WMEHEIBR W

(a)
(b)

(e}

(d)

A e e ge & wEm B A IR g
(a) wam 23R 3
(b) ad 13k 2
(¢) ao 13R3
(d 1,23R3
e et w e Bifse
G| | qfed
(%.) (g /wferad ) (z=mfad)
1 1000 400
2 900 500
3 800 600
4 700 700
5 600 800
6 500 900
7 400 1000
8 300 1100

7= #fe weR o B awg @ 2 5w o
HER I &N &, 7 avg B 7Y Ao P T
a7

(a}] 5.
(b) 4%
(e} 39,
(d) 2%,
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61. Does the index number reflect only [84. The inverse demand curves for a profit
approximate changes in the relative level of a maximizing discriminating monopolist who
phenomenon ? Why ? . : 3
v 5 oo " sells his product in two sub-markets are given
a es, ause ere 18 mno unigue =rd

fo g a8 ijlf_ 33!1 '"_':11 ?nd Py .—-}3[}:] -y 'I;EET;nhml
ost function is e = ;

(b) Yes, since index numbers are computed : a1 b II 5 ;11 s Bt 9% z a
from sample data, all errors inherent in will be the levels of output sold in two
any sampling procedure creep into its sub-markets ?
construction. :

_ (a) q, = 3333 and q, = 66-67

{c) Yes, because weights depend on -
subjective selection. (b q; = 2487 and q, = 16:33

(d) No, if the index number satisfies the (e) q, = 16-67 and q, = 66-67
tests for adequacy, it reflects accurate R r— s g

aon. {d) q,=3333 and qy = 50-67
65. Given,
’ Initial Level of

5% Tovery.eap is the Equilibrium national = Rs. 2,000 crores

(a) sum of the difference between the income
poverty line and actual income levels of Total Autonemiona
all people living below that line. Investment (I) = Rs. 50 crores

(b) sum of the difference between the Consumption function (C)
poverty line and actual income levels of {where, Y = National =20+08Y
all people living above that line. Income)

(e} aum of the difference between per capita What will be the new level of equilibrium
income and actual income. national income, if investment is increased by

(d) difference between number of persons Rs. 40 crores 7
above poverty line and number of (a) Rs. 2,040 crores
persons below poverty line. () Rs. 2.090 crores

(¢) Rs. 2,070 crores

63. Which of the following isfare the possible (d) Rs. 2,200 crores
effects of deficit financing ? .

668. Which one of the following statements refers

1. Increase in money supply with the to “diginflation” 7
public (a) A simultaneous existence of high rate of

2. 'The rise in the level of incomes inflation and high unemployment in a

country.

3.  The fall in the general price level (b) A process of reversing inflation but

Select the correct answer using the code wlthﬂ.ut cradang - ymemployoent [aul

. reducing output.

given below :

{c} A policy of moderating rising prices and

(a} 1 only also to pull the system out of the depth

of depreasion.

(b) 1 and 2 only ; \ .

(d) A situation of general depression and

(c) 2 only widespread unemployment caused by

deficiency of effective demand.

(d) 1,2and3

N-DTQ-K-GEQ ( 22 — A
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W Yadis fEu 9eN & uNe "R 5
uRadi W @1 wiafafaa awen & 2 wi 2

(a) ¢, wiifs o s g7 & & |

by & wifs yooe Fod sieg & R w
il for @ &, e Pl ofisar &
Ftea wdt nafrdl gwe P F g
et amt # |

() &, wifs wewedl & FuoRo feem
gIE T i e # |

(d) =@, ot yEei® wias & W 3 6T

a2, @ gz ool oftads @ ofefefEe
AR |

P arRm T g ?

(a) e Yo R 39 Yt & A9 S @ el
it & aafds 3 wR) & FE S A

(b) e W@ 3R 39 @ @ FR | 9 9
anit & arnafas 3 WR & s @ am

(c) wig =fts Mg aul avofe® 3T & WER
3R @ A

(@) Fem v & IR & sftedl & den ik
Fortfren Y & i & wftedi & dEm & i
=X

frefofag o & & w@ oo o @%
e aftomy & 2

1. @ & O g Ol ag S

2, I & wR ¥ afE

3. W S W d firee

4n faw e g w1 v o wE gee g
(a) a1

(b) @am 1 3R 2

(c) aw 2

d) 1,23R3

{23 - A)

vE oY Fftemien Yeee refted 5 e,
A WaAaER § 3 e B w2 Rem
i &% py = 200 — q, FW p2=3t}ﬂ—nglﬁ
AT WEA elq + Q) = (g, + ¥ ¥ | T A
W-AFR F N T FOE & ) oaa g ?

(a) q; =3333 3R q, = 66:67
(b) q, = 24-67 3R q, = 16:33
(¢) q, = 1667 3R q, = 66:67
(d) q, = 3333 3R q, = 50-67

fera T &,

Wﬁ mﬁ:mmnaﬂ = 2,000 E ©.

el T e (D = 50 &F .
(e \?:#T:%}HEIW} Mgl

e UL HG & T wR aar g, afe Pl
B 40 TS T, T TR P

(a) 2,040 &% <.
(b) 2,000 &90% %.
(¢) 2,070 =5 T
(d) 2,200 B0% %,

i B w wE § § e vuw el @
Faonen & ?

(a) vw aw ¥ wifg & 393 2 A Ie A0
T HEwe® A |

(b) g @1 shewm =& & e fog
e giom = &k 3 & 3ams it

(c) wRat Hwdl @ Falim o aUT T B
& @ e ¥ aer Frews & A

(d) wmr=a HE & oRRefr qur wwdt din & @
| s & s g9 |
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67. Capital deepening ceases 70. A country's offer curve will be straight line
when its price elasticity of supply for export is
(a) as a result of population growth,
ta) infinitely large,
(b) when there is no additional increase in
the population. (b) unitary.
{e) when the rate of return from capital is (e} zero.
equal to the real rate of interest.
(d) negative,
(d} when the real rate of interest falls,
ceteris paribus.
71. Consider the following statements :

68, Given below are information regarding the 1, India spends more than 1 per cent of its
weekly take-home pay of an employee and GDP on Research and Development
consumer price index for four years : (R&D),

Year 2001 | 2002 | 2003 | 2004 2. India's spending on R&D in relation to
GDF has inc¢reased in the past few
Weekly P
ke-home pay 12 50|116-40{135-40[138:10 years.
(Rs.) 3. In comparison to China, India’s
Consumer price |112-80{127-40|143-50{149-80 spending on R&D in relation to GDP is
index low.
!'_‘ which Jam did the employee have the Which of the statements given above is/are
highest buying power 7 correct 7
fa) 2001 (a) 1,2and 3
(b} 2002 {b) 2 and 3 only
(¢) 2003 (e} 1 and 2 enly
(d} 2004 (d} 3 only
69. The economic rent earned by any factor will |72- A[ person is earning Rs. 2,000 per month in
be highest if its elasticity of supply is his present job and can earn a maximum of
Rs. 1,800 per month in the next job. What are
(a) zero. his economic rent and transfer earnings
respectively ?
(b] between zero and one. (a) Rs. 3,800 and Rs. 1,800
(e} equal to one. (b) Rs. 200 and Rs. 2,000
(d) infinite, (¢} Rs. 200 and Rs. 1,800
(d) Rs. 1,800 and Rs. 3,800
N-DTQ-K-GEQ (24 - A}
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67. N eeirRUT B e @ ? 70, ©w du @ S @ e T @, s P ¥
ofef & Sa de
(a) T Hofg & uRvmrEsT |
(a) 4w & sfts @t |
(b) o s oo W afRw gfe
(b) bfss ol |
(c) T iEh ¥ ufowe & | TS A TR K
. taﬁvzs‘u ©) TR
(d) & &ns B aRafas = fird 8, ofd s @) TR 8 |
o gdEa @ |
71. Frafefes so w® fex it -
68, UE BUTN @ wrafes FEw da sl ar @l & 1. ¥R I GDP & 1 wigem & sfte wu 9
Fvivent e ES® B ws A e ge € fare (R&D) W =10 &% ¢ |
ad 2001 | 2002 | 2003 | 2004 9. @@ po @l § ¥Ra & R&D | =@ GDP
. & Hag g |
m}ﬁﬂa 109-50 | 116-40 | 135-40| 138-10 i
: 3. @ & ge ¥ wRa & R&D | =a GDP
3“”"‘.”%'"“ 112-80|127-40| 143.50 | 149-80 DG APE |
srBrmearit A oA R &R 2
e af & wfar) &t wdey & ofts aftmam @ 7
(a) 1,233
(a) 2001
(b) Waw 233
(b) 2002
(c) Tawm1dR2
(c) 2003
id) EE 3
(d) 2004
72. ©F @ AW aauE Jea § piemE 2,000 T
69. foft s g I s wH 3W WA #f¥m o & aw ow IR oSG F witwe
Fftrerr grm, F@ T o @ A 1.800 . SR 35w 9% wow & | T At
A @ EeaiEE 3T EEer agn am/a
(a) ¥ N |
(a) 3,800 %. @4 1,800 .
(b) w4 @S & fa @it |
(b) 200 %, T 2,000 B.
(0 ¥ TR i | (¢) 200 . @ 1,800 %.
(d) == En | (d) 1,800 &, @ur 3,800 %.
N-DTQ-K-GEQ (25 - A)
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78.  According to price-specie-flow mechanism, |76. Match List I with List IT and select the correct
which one of the following sequences of events answer using the code given below the lists :
is supposed to bring about adjustment in a List 1 List I
- s ? o
deficit nation ! (Contribution) (Economist)
(a) Increase in the money supply, rising
itarnal pitian Sillin. :’; rtaan::l i A. Profits as dynamic 1. Joseph
. e Bepe 8 surplus Schumpeter
imports
L. : B. Profits as a reward 2. M. Kalecki
(b) Reduction in the money supply, falling to introduce
internal prices, rising exports and falling innovations
imports
C. Profits as a reward 3. E.H. Knight
(¢) Reduction in the money supply, rising for uncertainty bearing
internal prices, rising exports and falling
imports D. Profits arise due to 4. J.B. Clark
monopoly power
(d) Reduction in the money supply, falling enjoyed by the
internal prices, falling exports and rising producers
e Code :
A B C D
74. What is meant by the term “neutrality of
money” ? (a) 2 1 3 4
(a) Management of money and credit to (b} 4 1 2 2
contral inflation
(c) 2 3 1 4
(b) Promotion of price stability and
exchange stability (d) 4 4 1 2
(¢} Doing away with the disturbing effects
of changes in the quantity of money on [77. Which one of the following pairs is not
important economic variables like correctly matched with regard to balance of
income, output and employment payments accounts ?
(d) Acceleration of growth rate in the (a) Import of goods — Debit in the current
economy and services account
(b) Receipts of -  Credit in the
transfer current account
75. An increase in national income because of an payments
increase in prices only is called an increase in
{c) Direet - Credit in the
(a) mnational income in real terms, investment capital account
. receipt
(b) national income at constant prices. i )
(d) Portfolio — Debit in the current
fe) nominal national income. investment account
payments
{(d) national income at base year prices.
N-DTQ-K-GEQ {26 - A
Dream Dare Win 26 Www.jeywin.com




Dream Dare Win

Www.jeywin.com

73. O AR WA 77 & FER, v & Frefaiad | 76.
FEdl # & B 0E, e A 9§ wEeE
o E ?

(@) Fa 9 ¥ wER, aaRe a4 g, Fafd
# @t aen amar ¥ g

(b) wg of # g, wieRe $wE @ @, Faa
i gig @ sl § &0

() wHarufd & g, Aales S ¥ gfe, FaE
# gfg o smawh F &0

(d) w1 ofF ¥ g, afaRe i § &9, P
# ot @en smaE ¥ gfE

74. U F e v o g o # 7

(a) wife & Freifie & & 9@ 7 w8 &
PELE]

(b) Hma Rexa 7 FFom R o seaes

(¢) war &t " & uRadHl @ RG-SR B e
Feares duT JITR e o

(d) sefeaen @ Hgfe @ @ @la &
7.

75. WA Pl & ag B A 3 ¥ g @
fwi gf gfe ow sten & ?
(a) areafEs & ¥ o I
(b) Fer fudt ® v @ A
(c) #ifew W amg #

a1 @ g 1 ¥ pifta e ok gud &
A fee e g & v e w IR g

I e 1
rgim (arefaret)

A. @, e Tieie 1. SR iR
s

B. T, FavadE @ 9. UH, EE
W &R BT
LlEGEG

C. @m, I 3. %va BT
Lol R EGIEG

D. @ & 3 4, 3.8, T
TS B TBIGBE
niesdl & weraey
e &

L

A B C D

(a) 2 1 3 4
(b} 4 1 3 2
e 2 3 1 4
(d 4 3 1 2

T Wgee ot & ey i Feafafe g 4
¥ P e, e Rioa @ # 2

(a) ol ok damil - o W A AfaE B
B A

(b) ERAEROT YA
& wifferd

(c) veaw PR wfs - §ohm @@ § dfRe
LAl

e W Hfee &

(d) uefear Fae
AT

el an ¥ 2fde

(d) e af dmal W g 5 |
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8. Which of the following is/are implied by the 80. i
doctrine of unbalanced growth ?
1. Unequal development of various sectors
often generates conditions for rapid % B
development. g
Lo
2. The investment should be dispersed :‘
over a wide range of industries, =
g
3. The goal of complete balance in the é
economy is not realized.
Select the correct answer using the code A
given below : 3
Quantity of banana
(a) 1 only ; ,
In the above figure showing budget lines, a
consumer was initially at point A. There was
(b) 2end3only a price change and she moves to point B. It
(¢ 1and3 only follows that
(a) bananas are a normal good.
(d) 1,2and3 (b) bananas are an inferior good.
e} mangoes are an inferior good.
79. Which of the following statements is/are (d) the consumer is confused.
correct ?
L. Laspeyres' index generally shows an |Bl. Price discrimination may be possible when
upward bias, 1. the nature of the commodity or service
ook is such that there is no possibility of
“ PHEBTdE; index generally shows an transference from one market to the
upward bias, other:
3. Laspeyres' index generally shows a 2,  the markets are separated by large
downward bias, distance or tariff barriers.
= 3. several groups of buyers require the
4, {l;'aaachesd t:‘ndex generally shows a R ice from clearly differentiated
s NN, commodities.
Select the correct answer using the code 4.  buyers are well informed and rational.
given below : ; .
Which of the statements given above are
P
(a) 1and4 correct ?
{a) 1 and 2 only
(b): ‘Lionly (b) 1,3and4
fc) 2and3 (c) 2 and 3 only
1,
(d) 3and4 @ 1,%and3
N-DTQ-K-GEQ (28 - A)
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78. Proefefas & & o7 wA srigim <iefa & Rl | 80.
¥ fafeemt &€ 7
1. Rfim dosl @ anmw Rem wmm o
A & a3 AT
2. P @ B stems e s o e
AT afEe |
3. refemaven § wgel WEe & de @ O
1 wEar |
$ few 1w BT ® wEm I WE T G
{a) a1
(b} ®Ew 23w 3
(¢} @ad 133
d)y 1,23R3
79. Frffem et # & o wd w87 2
1. OOy @ guee wEead ST s
e # | bt
9. WY @ Yamie ameaE Fwget e
feamar & |
3, TR @ Eeim g e st
e & |
4, U T YOOI GERaT AUE S
fermmar # |
(a) 134
(b1 @aEd 1
(e) 23R3
(dy 334
N-DTQ-K-GEQ (29 - A )
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HH H AET

;\n

e WY HTET
TR & @R # g wat e i f ol e
ysirest sy 3 fag A W & | B o= g @

3z @ auvie fvg B U= 3T g S @ | 3R ol
a8 g3 &

*>

(a) 0 wWrg aw © |
(by ooy ufeen awg € |
(¢) o uftar aw & |
(dy Iovive wfiE §

@ fedie s B 8, 7

1. e o e @y v E e oos aeR @
& & |

2. @ g 7 wape awei § SN0 aER d
ETE &

3. s Ba-eds o wes R e @
v & T sufeE 8 |

4, o @ o ga g o ¥ e & |
wx fEe e e # & e wE g e
eer 1 3k 2

1,334

ar 23R 3

1,233

(a)
(b}
()

{d}
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82. Suppose, spot rate of dollar today in India iz |85, The existence of a natural rate of
Rs. 42 and 3-month forward rate is Rs. 48, unemployment suggests that
I-{uw can an Indian 1}m!:rur1.e;l who :“ to pay () there is no inflation-unemployment
$20,000 1:113 r?unths time, hedge his foreign trade-offs in the long run.
exchange risk ? 7 . o
(b} nominal wage increases lag price in the
(a) There is no risk, rupee is quite stable. long Tun.
(¢} nominal wage increases lead price in
(b} The importer should enter into a forward the long run.
contract to sell dollars, (d) the short run Phillips curve is steeper
than the long run Phillips curve,
(¢} The importer should buy his required
amount of dollars today only and hold it |gg  Gonsider the following information :
for three months. .
it First | Second
i Initial | Investment
{d) The importer should enter into & forward " cost period ¥ enrﬁ s “rﬂ,
contract to buy dollars, e
A B, 2 years Re. Rs.
3,000 =¥ 2,500 | 8,500
83. [Inflation helps in redistribution of income B Rs. 2 years Rs. Rs.
through 3,000 2,000 | 4,000
) ) . If the cost of capital (rate of interest) of both
(a) proportional change in prices of the investments is 10% per year, which one of
everything including prices of assets the following is correct ?
and debt instruments. {a) Investment A is preferable
(b) disproportional change in prices of (b} Investment B is preferable
everything including prices of assets {c) Both the investments are equally
and debt instruments. preferable
() rising prices of everything includi (d) E}:};lrn;; 1vcii.;:t.aarlmnz: on the basis of given
prices of assets and debt instruments, o
(d) falling prices of everything including [87- Given below is the GNP per capita of India for
prices of assets and debt instruments. the years 2008 and 2009 :
Year inUS$ |inPPPUS §
B4. Lead Bank scheme is designed to 2008 620 3,100
2008 720 3,460
(a) have more concentrated effort of a bank
in a particular district. From the information given above we may
conclude that during that period.the cost of
(b) control the activities of non-banking living in India in comparison to USA has
financial institutions, )
fal increased,
(e) help the weaker sections in a particular {b) decreased.
district. () remained the same.
(d) regulate the use of credit. (d} cannot be cmy::luded on the basis of
given information.
N-DTQ-K-GEQ (30 - A )
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82,
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w6, ane & e wia o gfew &Y efd 2w 42 %, | 85,

qUT 3 WIE % a1 & a0 =X 48 6, ¥ | e YA
s, e 3 e wwa ¥ 20,000 §FR &
A B, e fadeh qer sftaw @ e mer
¥ wferen @um ?

(a) ®IF w8 &, Fifes oo oo Re @

(b) aw® @ ZER dww % fv ame 9
& Tifen |

(c) GBI @ YA Hawaes AT 3 SR 30T &
wiig o ofee aur &9 78 a6 s o
AT O |

(d) amaeE & 2R wie & e g wfe
e afge |

Wity e oe & e geideror i weg o @ 7

(a) affiel @ St s wo goEt afea wh
st @ St # sl ofteds @9 @

(b) uftemfrt & Swat s = ret aftm wd
At & Pt # s oitedw @ @

(¢) Rl 3 et 3t Hor st e
B e e E |

(d) ufemfal & Smat sl o woat afga b |87,

st @t et ¥ froae @ @

aroft #5 & sfiwer e e S & 2

(a) e fafere e & ve &% oo afs WFfa
yar He o fowe

by -dfen fdm el & TRRERE @
frafEm w1 % e

(¢) %mvﬁﬁm%ﬁmmﬂaﬁmmﬁi

(d) @ & Igam & Fofie 5= § B

[ 31 - A}

:ﬁaﬂaﬁw@%ﬁﬁﬁmmmm
P

(a) ddaw ¥, wifadREd & o8 R
(%8-3ifwm) =& g

(b) dndwwr ¥, dma ¥ W F IO e
gl # g St #

(¢) drdwm ¥, dma § oy & soham ame
a W af o @

(d) oreamiees Rl ap, ddefoe Bl a5
& geren F A g aven e &

ﬁ%ﬂﬁlﬁ!ﬁw“ﬁmaﬁﬁmr

Rt | PR
e GILGH wafer
A |3000%. | 2o

B |3000% | 2ad |2500%, |4,000%,

afe A1 Fraw & @ & evm (me av) wited

10% &, o Pl # 2 @) ow wér 2 7

() Frw Aelg#

(b) Frdm B adrg @

(c) 2T Frdwr s ey & adg

(d) & 7§ gEer & aar w G @ R
el

v & | it ad
@ ufomy @ aftomy

2,600 &, | 3,500 %,

af 2008 @ @ 2009 % Bv wwa & oy afs
GNPIR @ & -

ad Us & PPPUS §#
2008 620 3,100
2009 720 3,480

FR & g sl & R W, w0 g Feef P
W & fb gw wwa smfly § USA & s wre &
sha= Frafe & s

(a) @@ #E |

(b) wa# |

(c) TEAITME

(d) & & # & 7§ el & s o) Pl
Freasren s W |
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88. Suppose, nominal GNP in the year 1990 was [91. Which of the following statements is/are
Rs. 100 billion and in the year 2000 Rs. 360 correct 7
billion. During this period the GNP deflator
increased by 80%. Between the year 1990 and 1. A change in income in the IS-LM model
the year 2000 the average annual rate of resulting from a change in the price
growth of real GNP was approximately level represents a movement along the
(a) 7% aggregate demand curve.
{b)  10% 2. A change in income in the IS-LM model
fe) 13% for a fixed price level represents a shift
(d} cannot be calculated on the basis of in the aggregate demand curve,
given information
3. LM echedule is a schedule of
89. On the basis of the following information equilibrium income,
about firms A and B, identify with the help of
the code given below, the value added by 4, IS schedule is a schedule of monetary
firms A and B respectively, considering that equilibrium,
the economy has only these two firms :
(Rs. in lakhs) Select the correct answer using the code
i below :
Exports by firm A 40 s o
Imports by firm A 100 fa) 1 and 2
Sales to households by firm A 180
(b) 2 only
Sales to firm B by firm A 80
Sales to firm A by firm B 60 fie) 1and?3
Sales to households by firm B 120
Code - (d) 3 and 4
{a) Rs. 140 lakh and Rs. 100 lakh
(b) Rs. 200 lakh and Rs. 180 lakh 92. A surge in foreign capital inflows in India
: ]
()" Rs. 100 lakh and Rs. 140 lakh wowd Jead fo; e
(d) Rs. 300 lakh and Rs. 120 lakh {a) sale of foreign exchange by the central
bank in order to prevent depreciation of
90. Is there any difference between forward and i . 4
; pee.
futures markets in foreign exchange ?
(a) No, both deal with future delivery of (b) purchase of foreign exchange by the
foreign exchange. central bank in order to prevent
(b) No, both markets can be availed of by depreciation of the rupee.
telephones “over the counter” of a
cuml::m-:rciai bank. (c) sale of foreign exchange by the central
W ) bank to prevent the appreciation of the
(¢} Yes, only a limited number of currencies rupee.
are traded in the futures market and
that also in standardized amounts. (d) purchase of foreign exchange by the
(d) No, if one agrees on the date of delivery central bank in order to prevent
and brokerage, it is immaterial which of appreciation of the rupee.
the markets one is talking of.
N-DTO-K-GEQ { 32 - A )
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T wifew, af 1990 # 9f2s GNP 100 s =;
Ter ay 2000 ¥ 360 Ffte= 5. o | =9 99y aEt
¥ GNP sawifas (Evex) 80% & mar | af
1990 1 99 2000 % g anaes GNP & e
e wafs = wfawes @ @ 7

(a) "%

(b) 10%

fcl 13%

(d) & 7 FEEE % R w oRshe T G
1 T

o4 A B & ar ¥ Prafafes & IER
R, g faaR g s snfemmr A g A @1 |
B E, HHEE B A B gR affi ger &, 99 Re
T8 He &I Ferdl § UEaH S
(¥, FrE o)

w4 A g fban mar Frata 40

wt AR S man amare 100

w4 A gR1 ofERt & & T 180

w4 AR B4 B &1 & 78 A 80

w4 B 5 w9 A @ # g A 60

w4 B gR1 aftart &1 & w el 120

il

(a) 140 T . TU 100 TG .
(b) 200 @& &, & 180 & 3,
() 100 @ &, Tl 140 @1 %,

(d) 300 7@ %, T2 120 @ 4.

aar fage Rfm % amm 9o wEY et % 99
®Ig IR B & ?

(a) &, @ faash # wfa # o

Wt f-E g1

(b} +el, 2 SN @ giae ZeeE & Ay @
afvrsa 6 & Ted & IR gAW S
|

, TEY AR § dam Wfm e &
gmma‘m%m‘l?a?ﬁrumﬂ@m

'Ht"““a

{c)

ol

o &a foffr aw e | e 8
, @ o B wewm i ¢ s aw el
¥ fow amR @ & aR e E |

(d)

:’d-%,ﬂ?

91.

92,

{33-A}

e s da s o ol &8 »
1. ®mWg WX & Rads & sRvmmeasy 1S-LM

Wiea ¥ @& yRadw wee O 95 b
- e & et @ )

2. rvEd ReR #mg w1 & e IS-LM dka §
g w1 IREA Febel A ap § R B
Frefte s & |

8. LM ), Haee 3 @ e € |

4, IS s, WiE wgem @ s #

e few e e @ v a9 W gfe

(a) 132

(b) &aEd 2

(&) 13R3

(d) 334

ARE ¥ faReh §of & araate ¥ o 4o e ek @
S ?

(a) ¥4 & I@eaq @ Ioa & fw, g fs
o faaeh g & Rt

(b) T & IHIRE B AFA © Tow, Hog I
1 fEaeh g & i

(c) vUd & Fraghe & W59 5 fw, Hha §o
g el g @ fagt

(d) U & geagls & 9 § e, Ho i
a1 el gy & wie

Dream Dare Win

33

Www.jeywin.com




Dream Dare Win

Www.jeywin.com

93. Structural transformation is that process in |96.
which
(a) the contribution to national income by

the manufacturing sector increasingly
becomes higher than that by the
agricultural sector.

(b} the contribution to national income by
capital goods is more in comparison to
labour,

{c) the contribution to national income by |97.
foreign  investment 1is more in
comparison to domestic investment,

(d) production is mainly meant for personal
consumption and not for investment.

94. Which one among the following statements is
correct ¢
{a) Sum total of the first order differences

from arithmetic mean is always zero.

(b} In a relatively skewed distribution sum
total of the first order differences from
the median is zero. 98.

(e) Sum total of the first order differences
from median is always equal to zero.

(d) Sum total of the first order differences
from mode is always equal to zero.

95. Which of the following statements is/are
correct according to the law of wvariable
propartion ?

1. The marginal product curve cuts the
average product curve at its highest 99
point. A

2, Average product curve cuts the marginal
product curve at its highest point.

3. Marginal product becomes zero at the
highest point of the total product curve.

4. Total product curve is concave
throughout from the origin.

Select the correct answer using the code given

below :

{a) 1 only

(b} 1 and 3 only

(e) 3 and 4 only

(d) 1,2 and3

N-DTQ-K-GEQ [ 34 - A

Which one among the following measures is
most appropriate to compare the dispersion in
two variables measured in different units of
measurement ?

(a} Range

(b} Quartile deviation

ie) Variance

id) Coefficient of variation

What is the Safeguard Clause in GATT

Articles 7

fa) It protects the interest of capitalist
countries.

(b) It safeguards the interest of poorer
nations.

fc) It refers to measures that can be
applied in the case of serious injury to a
trading partner.

(d) It is related to tarilf measures and

revenues,

Which one of the following is correct in case of
a production function of the form Q = AK®LP 7
{Symbols have usual meanings)

{a) The degree of homogeneity is
necessarily one,

(b} Marginal product of an input is equal to
its average product.

{c) Elasticity of substitution is equal to
o+ B

(d}) Capital elasticity of output is equal to .

Coefficient of correlation between two
variables is 0-8. If one of the variables is
regressed on the other, which one of the
following is correct ?

fa) 90 per cent of the wvariation in the
dependent variable is explained by the
variation in the explanatory variable.
0:90 per cent of the variation in the
dependent variable is explained by the
variation in the explanatory variable,

fc) 81 per cent of the wvariation in the
dependent variable is explained by the
variation in the explanatory variable.
0-81 per cent of the variation in the
dependent variable iz explained by the
variation in the explanatory variable.

{b)

(d)
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IS Wi 78 Wi @ e
(a) W g Rfwio dus & drew, B
& & AR B qerEn i A ¥ aean & |

(b) i i ¥ Yt awpi & sm F gen
e Hits g g |

() I ama # faeh Fdwr @, aie e &
qe § sftes dverr e @

(d) 3IER" & via e ¢ s or afea ovm
& foe #, = s Fder & fe |

Freferfaa wuel § @ s ve oum e 22

(a) WHEL e § wew i s o g drese
20N O B # |

(b) s wne ey dew § waitas 3 v B
3R B P ANIGA U B & |

(¢) wiftg@n & wow @R I’ & po dwe
EAE 9 & A g # |

(@) @ges A vuw B 3’ o oo e el
I & aE g @ |

sRadl s Prm & ser Featfee oot § @
a9 WA A

1. ¥mh % a5, Aed JE 9 9 Tee
Feaam famg W dea # |

3. o0 3N o ¥ Fuew fag W i R
TR TE |

4. T INE 9F, ol W A AETE W@
21

Ha e ge & v &R W 3R g

(a) &ad 1

(b) wEE 133

(¢) ®ae 34

(d 1,23R3

{36 - A )
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Frefefan adt f d s es, AR A, B
o @ guw @R g e e omn @,
ufdiur @ g e & fire vt avges & 2

(a) TN
(b) ogdes faem
(e) W9
(d) fereror Tis

GATT sr=afiami # Teiurg wos Tar @ ?

(a) aF Yo e & el o wveo o # |

(b) e amempa Tl s & e @ e
o & |

(c) U7 &8 aRe wrani @ TR afd
@ am F @ Br o ww aw Cal
fiffe s & |

(d) §WE W VRIS Ul oiR U A R |

Fr=fofaa # & S v w8 &, o 3 oo
Q=AKL! wu &1 2 7 (vt & wpir o #)
(a) EHWGE & W WEYEH WA v |

(b) S 3 @ AW I TG iEa IE B
ava g & |

() MM &g a+pdhamaRd |
(d) Jemes & Goft @19 o & avE @ |

2w & e wewwe s 09 # | aft g
¥ b O GR B IR THelm B I @, &
fPeftfam Y A e es, v & 7

(a) TRaF T ¥ 90 wfeee fero & aren sRor
& R @ @

(b) Wam = # 0-90 wfaww frawor & =wem
BRI B R A ad 2 |

(e) UWed R ¥ 81 ufowe fewor & == sRo
W aad &

(d} wem =X 7 0-81 wfeem FeRor & &ren
w0 B o e @ A @
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Which one of the following statements is
correct in case of constant returns to scale ?

(a) Long run average cost (LAC) curve is
the locus of minimum points of short

run average cost (SAC) curves.

ib) LAC is U-shaped.

(e} LAC is greater than the long run
marginal cost.

{(d) LAC coincides with the horizontal axis,

Which one of the following statements
correctly describes the relationship between
multiplier and aceelerator ?

{a) Both show the effect of change in
income on investment.

(b} Both show the effect of change in
investment on income.

(e} Multiplier shows the effect of change in

income on investment and accelerator
shows the effect of change in
investment on income.

(d) Multiplier shows the effect of change in
investment on income and accelerator
shows the effect of change in income on

investment.

Given the total cost as C, the price of lu]:u:-ur
(L) as Py, price of capital (K) as P, fro
which one of the following functions, can an
iso-cost curve be drawn ?

(a) K=C/Pg+(C/P)L

(h) €= ﬂfPL + [C;’PKI

() C=K.Pg+L.P

(d) L=C/Pg-(C/P)K

Which one of the following is the

inter-quartile range for the given data ?
45, 48, 56, 58, 65, 66, 72, 76, 78, 79, 81

{a) 25
(b 8O0
(e} 35
(d)y 23

100. Which among the following are the cost-push | 102,
cauges of inflation ?
1.  Deficil financing
2. Increase in administered prices
3 Inerease in interest rates
4.  Increase in population
5. Increase in oil prices
6.  Mounting public expenditure 103
Select the correct answer using the code
given below :
{a) 2,83, 5andé
{(b) 2,3 and 5 only
{c) 3 and5 only
(d) 1,2, 4and 6
101. Given (in Re. million) :
Direct personal taxes 300
Depreciation 230
Indirect taxes 200 104.
Government transfer 25
payments
Gross investment 450
Net exports (=) 70
Consumption expenditure 2.000
Government expenditure 550
Which one of the following is the value of
national income (in Rs. million) 7 105.
{a) 2930
(b} 2,500
(e} 2525
(d) 2,700
N-DTQ-K-GEQ {36 - A)
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100. PrafafEg # & #92 Bift & Fresg ors # 2

101.

1. e e
friifer el 4 gl
s @ # e
T | ofg

& Bt | 3fe

. uHEte o ¥ i
A e e gT @ wm a3 gfe
2,3, 536

®ae 2,33R 5
e 3 3R 5

1,2, 43R 6

o o & w N

(a)
(b)
(e
(d)

T & (Fafres ougl #)

e =T B 300
R 230
Vg BT 200
TEH AR YA 25
waser fraw 450
Fae Frafa (=) 70
o &g 2,000
TEH =Y 550

Frafafas § 9 sFm o, I s @ T @
(Rifera=r <t ) 2

102.

103.

104.

fr tarr &5 witvee & v § PR st 0 R
S s suT e

(a) ?;:;m e m’:a%L;CJ a6, qggaﬁﬂ
AR (SAC) AT &l
fawme & |

LAC U-agfa o1 # |
LAC @@= dwia mma 3 afts 2 |

LAC ¥9=FR 38l &1 |0 & |

(b
(c)
id)

Frffes st & @ sl ws, P Ak wE &
QTR e & e aXE o v S P

2, 3 & WReds &1, Foe ® w3 @
W @ fam & |

21, fw & oRed &1, 9 | =Y @
pura @ e &

s g ¥ uReds @, PRw W R am
wura @ fdam & 3R e Few & oRad=
&, 3G W U T 99T B e

e Faw & el &1, o | v @
wwra @ e 2 stk e o & oRad
&1 i w® g 9@ wE @ R #

(a)
(b)

(c)

(d)

oft ge o @ C, 59 (L) B Bma @ Py, T
(K) ot @ @ Py o man @, o Frefofea
wE # 5w v R, wE o o o o
el & ?

(a) K=C/Pg+(C/P)L
C = C/P, + (C/Py)
C=K.Pg+L.P,

L = C/Pg - (C/Pp) K

(b)
(c)
(d)

fFrfefies &8 & s v, Re w wgt @
sovagds TRe @ ?

(a) 2,930 45, 48, 55, 58, 65, 66, 72, 76, T8, 79, 81
(b) 2,500 () 25
(b) 80
(c) 2,525 © 85
(@ 2,700 (@) 23
N-DTQ-K-GEQ { 37 - A )
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106. Ad valorem tax is based on 110,
(a) income.
(b} real value of goods.
(¢} money value of goods.
{d) volume of goods,
107. If a firm's average total cost iz Rs. 30 at
b units of output and Rs. 32 at 6 units of
output, which one among the following is the
marginal cost of producing the 6'" unit 7
(a) Rs. 2 ML
(b) Rs. 12
(¢} Ras 32
(d) Rs, 42
108. The life cycle hypothesis of consumption
implies that consumption is related to
(a) price expectation over one’s lifetime.
{(b) transitory income,
(¢} permanent income.
(d) expected lifetime income.
112.
109, Which one of the following is unemployment
rate 7
{a) Percentage of unemployed to total
population
(b) Percentage of unemployed to total
labour foree
(c} Percentage of unemployed to total
workforce
(d}) Percentage of unemployed to total
persons not in labour force
N-DTQ-K-GEQ (38 - A
Dream Dare Win 38

When price elasticity of demand of a good is
greater than one, then expenditure on the
good

{a}) rises with a price fall.

(b) declines with a price fall,
(e} rises with a price rise,
(d) remains the same irrespective of price

rige ar fall,

Transaction-precautionary demand for money
is

(a) positively related to both level of income

and rate of interest.

(b) negatively related to both level of
income and rate of interest.

(c)  positively related to the level of income
and negatively related to the rate of
interest,

(d} negatively related to the level of income

and positively related to the rate of
interest,

Assume that the demand curve for compact
discs (CD) slopes downwards and the supply
curve slopes upwards. If the price of CD
players decreases, then, ceferis paribus

(a) the equilibrium price of CD will fall.

(b}  the equilibrium price of CD will rise

(e} the equilibriom price of CD will stay
the sama.

(d) none of the above are correct.
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108.
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gamp o few W s g d 2
(a) ¥ W

(b) ¥t & awalem qEa W
() awgail & wied Jra W

(d) FwEpRT & oo )

aft vs o @ 5 gomal & e i sited
A 30 T, 3R 6 soral B e @ st g

WA 32 @, &, o Pt § @ o o, ot 110,

For B Fifee S & Aia @ ¢ ?

(a) 2%

by 12%.
fe) 329
d) 429

o # St 9 daee @ Pfead e d, @&
I & T

(a) wfte & aia & A B v A @ |
(b) sEm g dd|

(c) v 3T H R |

(d) wenfea staa &@ Ia F 2 |

Prefofas & 3 a9 oo, e = e ?

(a) oo FeE § SR @ it

(b) e W ofes A e & e

(c) oo o uits & Rt @ s

(d) gﬁﬁ.ﬁmsﬁﬁ%ﬁim

112,

[ 39 - A}

110, ¥ o &g o 4 & Fa drm v ¥ Afew

#, @@ o W fea ma =g

(a) ot fir S wwaga# |
(b) e iRy & wrw Firen &
(c) o ag & W ag & |
(d) e agt w ue 3 Priw, ewswms e i |

Har o Fe-gatar Hin

(a) 3O TR § &@F X, 2N & 99 49ES
T TE R

(b) O wR 9 ®H &<, o & WY TS
W TEd R

(¢) MY W & TY GIFE I @A R a
&1 &Y & WY WS T A # |

(d) g W 5 Y WS T @A & a
&1 &Y & WY UAEE S A £

7+ wiow & @l B (CD) & 9 aF &
o sy & sk ofF am @ ow T 2 |

aft CD P & B et &, A oy A g
@A W), T B P

(a) CD @ ¥ Bma i smeh

(b) CD & e B ag st

(¢) CD & ¥gee ®iwa Tes 30 & W@

(d) Fodes # | B off @ A @
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113.

114.

115.
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Which of the following statements with regard
to the National Rural Employment Guarantee
Act (NREGA), 2005 is/are correct 7

1. The legislation makes the Government
legally bound to provide employment to
those who seek it.

2. Ae a distriet-is notified under the Aet,
the Sampoorna Grameen Rozgar Yojana
is automatically merged in the NREGA.

Select the correct answer using the code
given below :
(a) 1 only

(b) 2 only
(c)

(d)

Both 1 and 2
Neither 1 nor 2

Consider a consumer whose consumption
basket contains only two goods X and Y. His
budget is such that if he spends his entire
income on these two goods, he can purchase
4 units of X and 6 units of Y or 12 units of X
and 2 units of Y. If he spends all his income
on good X, how many units of X can he buy ?

(a) 7
(b} 15

(c) 16

(d) 18

India has witnessed a number of acute
problems immediately prior to
implementation of economic reforms in early
1990's. Among the following, which one was
severe and unmanageable ?

(a} Industrial backwardness
(b} Balance-of-payments crigis
(e)

(d)

Backwardness of agriculture

Shortage of foodgrains

{ 40 -

116.

117.

A

The inverse demand function for tea is given
by p; = 18-3q; where p; is the price in
rupees for a 500 gm packet of tea and q, is
the quantity demanded. The inverse supply
curve is given by p_ = 6 + q_. Now, suppose
the governmeni decides to give a subsidy of
Rs. 2 per packet to tea suppliers, what will be
the new equilibrium price (p) and quantity

demanded (q) by consumers after the
introduction of subsidy ?

fa) p=3 q=9

{(by p=75 g=285

(e p=8 gqg=3

(d} p=95 q=35

Match List 1 with List I1 and select the correct
answer using the code given below the lists :

List I List IL

(Type of budget deficit) {Measurement

of deficit)

A. Revenue deficit 1, Gap between total
expenditure and
total receipts

B. Fiscal deficit 2. Excess of revenue
expenditure over
revenue receipts

C. Primary deficit 3. Fiscal deficit less

interest payments

D. Budgetary 4. Difference between
deficit revenue receipts
plus certain
non-debl capital
receipts and the
total  expenditure
including loans, net
of repayments
Code :
A B C D
fa) 1 3 q 2
(b) 2 4 3 1
e} 2 3 4 1
d) 1 4 3 2

40
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118, g AT AsmR MReSt HfuFraw (NREGA), |116. @ &t afteim din werm far & py = 18 - 8q,,
2005 % we¥ ¥ Frafofas st & & a9 w9 et py, 500 U TR & $¥z B w # Saa #
YT T/ E ? T g, A0 0E wem @ | afees off o R @
1. g o= woR @1 g9 ag & foe & w9 p, = 6 + g, @ " i, WHR TU &
¥ g o # & 9 I I v w5t it @ 2 ©, 9t & IR IwEE 3 @
1 VIR e | Frofa & &, & svae wiy &3 & aw aE dae

2. b, Fren sl b e sfRE 2, B (p) 3R Il G A 7§ A (g) @
e wet geiter e diser @ e 8 & 2
NREGA ¥ faema & smer & | (a) p=3 q=9

I e me g @ wdm e ud R g (b) p=75 q=35

{a) oEd 1 (e} p=9, q=3

(b) ad 2 (d) p=95, q=35

(e} 13k 2d=T

(d) T 1R 2 . w1 Y g @b sk i ¥

g e m e & wam ax wE IR g

114, 3 0 Inive W far Ffw Ged anim 28 i1 Tt

% Fam @ ae X aw Y & | I0E 99 39 e (T TIE & FER) (G1E BT A7)
& 2, & gt g7 ot el o gw AN aRgs A, UFE UET 1. =g WA
W Ed o}t &, o a8 X B 4 goEd G Y & ' ?ﬁamgﬂ
6 youdl @ X & 12 gt Ak Y & 2 g B. US@Ng uRl 2. U @d @ UaE
i o 2 | af a8 I 9 5 o X ® AT W it
ar # foeer somdl wle
%ET:%' Lk C. wfwwm 3 wwwdm w ¥ @
=TS e B ue
{a) 7 T W
(b) 15 D. a@sém e 4. e sma A s
e) 18 Rmo §ot a3 &
(d) 18 i, e7en wol v FEe
Sl
=, & a9 3T

115, 1990 & @ & wow # ffs guRl & T
Fafaas & dE Ugd a6 WRA 3 39S faec
T @ w2 | Feafaias 3 9 @ A B C D
A Hedttd g 9 e 91 7

(e} 1 3 4 2
(a) 3t o
: ; (b) 2 4 3 1
(b) YIaH Hge & HEHe
(c) ?ﬁﬁﬁﬁﬂ (e} 2 3 4 1
(d) wmarEl it =0 d 1 4 3 2
N-DTQ-K-GEQ (41 - A )
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11B. To which one of the following categories of
farmers was the period for repayment of
overdues extended under the Agricultural
Debt Waiver and Debt Relief Scheme in the
Union Budget 2009 - 10 7
{a) Farmers having upto one hectare of
land
(b) Farmers having upto one and a half
hectares of land
{e) Farmers having upto two hectares of
land
(d) Farmers having more than two hectares
of land
119. Assuming constant returns to scale, if all the
three factors X, Y and Z are paid according to
their marginal productivity, then the Euler's
theorem implies
(8) Q=MP, +MP +MP,
(b) Q>MP, xX+MP xY+MP xZ
e} Q<MP xX+MP xY +MP xZ
(d) Q:MFE:-CX+M_Pv!Y+MFAxE
N-DTQ-K-GEQ { 42 - A |
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120.

During the year 2008 — (09, in India there has
been a dip in the growth rate of GDP from
9 per cent Lo 67 per cent. Among the
following sectors, which sector registered the
highest fall ?

(a) Mining and quarrying
(b} Manufacturing
(e} Construction

(d) Electricity, gas and water supply
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118. ¥u-asT 2009 - 10 %, Fn=fofEa ol & foa=l 4§

119.

N-DTQ-K-GEQ

¥ v ve & o ol =or sftremr dar w0 Tea
dem & st sfeda & enfme & wHa-saf
o R o= B o 2

(a) U LR oF 0 @ a9 fBee

(b) 3¢ ewtad ad I8 @ 9w e
(¢) 2 taeax aF 7U9 @Y g feae

(d) @ eRax J s e e o R

e Sfewe @ W g, af S aweE X,
Y @1 Z B 37 i I & e yra
B &, 7 g Wi g ?

(a) Q=MP, +MP, + MP,

(b} Q>MP:><X+MPF><Y+MP;=<E

(e

Q<MP, xX+MP xY +MP, xZ

(d Q=MP xX+MP xY +MP, xZ

120. & 2008 - 09 & IRF WRa ¥ GDP & dfg W

(43 - A}

9 wieww o firax 67 vioem & W | PreffEa
gam 0 A 5w e das o vt e = &
WP

(a) W@ o wER-El (i o @0
(b) Fafmivr (Fgseatim)
wa-Fion (si=gaem)

(d) Foge, o @ = ofd

{c)

Dream Dare Win
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SPACE FOR ROUGH WORK

| e W & fee seE
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SPACE FOR ROUGH WORK
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S aF HTe! aF e gaer @io @) T e Se G@ G T Gl
A& H. . N-DTQ-K-GEQ e gReeT I

wieor gRaas
Frfemre

uag : & gue gﬂl‘fﬁ"-?ﬁ

s

o wrey B9 & qo aw, A g Thee g B g sava =% A B g o e e, v
o1 T & U e WeAr i 7w | ol den &, o 59wl wdharr gRae @ awe e
o-uFe # W W w adier gitewt aEpn A, B, C a1 D guitufl we s § goag ditwe |

59 e gRae w Ty # fie e e # st s
sipenies T & | wlieor g W sk po T ford |

50 Tharor giteest 3 120 s (ve) Re m € | wde v Rl sik ool B @ | v e B
R (@) Be e & | o @ ow wegeR O 9F & O o WR-mEe W sifsa B T € | Ol
mﬂaﬂ&wﬁmmﬂtwﬂ#ﬁﬁwﬁﬁﬁﬁﬁﬂmmm | wedes
et & o daer et wegeR g R

it Fe Wit wegeR e ¥ e w FRews w @ sifea 3 # | - | e e P 2R

. Wy & siw W E

7. 3o wEd B o veor qfiaer & e sl & reR R W S S O &Y, e v
wEO-aE & W i s & oER $u fre w3 E

8. Y TN T Yequdl @B IO-0AE VR F A aun ghen § wNE W Sawr JeR-oae s @) w6l
& | s e ar gdeor gReE @ T @ e @ |

9. T oW & o v e gRae & o F woe #
10, ere o) & fove avs |
awgfre A § Ieiar R e e mem st & fe zvs far smem |

() wedre we & R ar dfus g # | aeieer R v wee & e Re oo e R 5 e
we & Fraa fise me siwl @1 ew-Rer (0-33) v & W & @y s |

(i) ofE o nfear oo & oftrs 3wk 2 2, A o e FOR W e, Taft Re e R 4 @ ew
IR 98 B &, R W 39 v & e swfereR @ o @R @ avs Ran s |

(iii) aft IefeER gRT @ 9v= g A8 v s 2, anfe Iefwar arr I 9@ Ry s @, & 3w wE
¥ fore @ oz = R FmEm |

& a® B! g7 e gRa®r @er @) T dE1 e a9 as T @l

Note : English version of the instructions is printed on the front cover of this Booklet.
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